This Question Paper consists of 51 questions and 22 printed pages + 1 Outline Map of India.
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General Instructions :

1. Candidate must write his/her Roll Number on the first page of the Question Paper.

2. Please check the Question Paper to verify that the total pages and the total number of

questions contained in the Question Paper are the same as those printed on the top of the

first page. Also check to see that the questions are in sequential order.

3. Forthe objective type of questions, you have to choose any one of the four alternatives given in

the questions i.e. (A), (B), (C) and (D) and indicate your correct answer in the Answer-Book

given to you.

4. All the questions including objective type questions are to be answered within the allotted

time and no separate time limit is fixed for answering objective type questions.

5. Making any identification mark in the Answer-Book or writing Roll Number anywhere other

than the specified places will lead to disqualification of the candidate.

6. Candidate will not be allowed to take Calculator, Mobile Phone, Bluetooth, Earphone or any

such electronic devices in the Examination Hall.

7. In case of any doubt or confusion in the Question Paper, the English Version will prevail.

8. Write your Question Paper Code No. 69/MAY/4, Set- on the Answer-Book.
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9.

(a) The Question Paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the questions will be yours only.

A ST

1.
2.

3.

TUETET YT % Ugd Y56 UX U SR sy fod |

FUAT YT-TF Bl g & 6 T-UA b P goi qoT YAl Bl I & e & e gum
U % q99 HUX BU $1 39 91 B Sig W B o 6 YT e ' OH ¥

TS weAt F eyl AR fasedt (A), (B), (C) 9T (D) ¥ ¥ ®13 TF SaX gvl & aor &
T SE-gRasr § gl wu forae

TEgFTss UsAl & TI-| FH YAl % wax faifia orafy & ofiax & 3 ¥ | o wedl %
g ot @ wwy el e s

SA-gRaem ¥ TeaM-Tag a9 otuar ffdse Wt % srfafed @i |l ershHie faes uX
el Bl ST ST SR

e Bl e B | hogpeiey, AN B, Y, TATHM o [BUT Hl Felagie SuBl
B T W BN STACT TR

A9 § el W1 U % dae Sreen gfaen o Rafa ¥ SHN Sae & A BN

AU FA-GRABI T TSI B B HEA 69/MAY/4, Set-[A] Frd |

(%) 99 haw S/ Aregw # &1 BT Y, AfY ey A€ o T & 72 el ww W
¥ IO < Gahd © -
AfoTg, srafr, Jure, B, Wwpd o T
FuAT IA-YRasr A fiw U aie ¥ faw f6 o fpw wwr § X fow @ ®

(@) afy ey & ud el & srfafiea frdl o W & soX f@d ¥ O wost & g9z
¥ e ot Jfeat | afn @ el Baw sy gl

.

NOTE / it :

(1) Answers of all questions are to be given in the Answer-Book given to
you.
9l TRl oh IR SAHRT & TR I giken | & ford |

(2) 15 minutes time has been allotted to read this question paper. The
question paper will be distributed at 02.15 p.m. From 02.15 p.m. to
02.30 p.m., the students will read the question paper only and will not
write any answer on the answer-book during this period.
T Y951 I Ygd & fau 15 e o1 wm o @ ® | 999 o1 foror et
T 02.15 ot foram ST@m| 02.15 &t @ 02.30 &1 T S hadl Y- hl T
3R 39 Fafr & SRE 3 SW-Yeh R g ST & forad |
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SOCIAL SCIENCE
HAHMF 5T

213)
Time : 3 Hours | [ Maximum Marks : 100
{4 : 3 o ] [ quiik : 100
Note :
(i)  This question paper consists of 51 questions in all.
(ii))  All questions are compulsory.
(iii) Marks are given against each question.
(iv) Section - A consists of
(a) Q.No.1 to20- Multiple Choice Type Questions (MCQs) carrying 1 mark each. Select and write
the most appropriate option out of the four options given in each of these questions. Alternative
questions are given in lieu of Question No. 7 to 10 for Visually Impaired Candidates Only.
(b) Q. No. 21 to 35 - Objective type questions carrying 2 marks each (with 2 sub parts of 1 mark
each in some of these questions). Attempt these questions as per the instructions given for
each of the questions.
(v)  Section - B consists of
(a) Q. No. 36 to 41 - Very Short answer type questions carrying 2 marks each to be answered
in the range of 30 to 50 words. Attempt these questions as per the instructions given for each
of the questions.
(b) Q. No. 42 to 47 - Short answer type questions carrying 3 marks each to be answered in the
range of 50 to 80 words.
(c) Q.No. 48 & 49 - Skill (Map) based questions carrying 4 marks each. (Alternative questions
are given in lieu of map based questions for Visually Impaired Candidates.)
(d) Q. No. 50 & 51 - Long Answer type questions carrying 6 marks each to be answered in the
range of 80 to 120 words.
(e)  An internal choice has been provided in some of these questions. You have to attempt only
one of the given choices in such questions.
e :
() 39 9 ¥ P 51 YA ¥l
(i) W 9T sfEd ¥
(i) wR v F i Tk WU T W ¥
(iv) @ — 3 & 99T o ghHfed &
(@) WS HEA 1 ¥ 20 T% 1 3% I TEIHeT YR & 997 (MCQs) ¥ | e & 9 faseat & &
it Iuga fabed B g+ qor o | gheattya sl 3g T W@ 7 9 10 & WH W Jbis
99 g ™ 2
(b) ¥T TEAT 21 | 35 TF 2 3% A IEIMTS WHR b YT &1 (3T T B U H UAE 1 3% &
2 IU-ATN &% A1) | 37 YA BT I Y1 & A1 7 7 Frdenf & orgam i |
(V) @ —qF Y

(2) ¥eT €& 36 W 41 T 2 3% A MG TY-IAAT TBR % YA U 1 IaX 30 & 50 9=
# AR 37 v &1 IAX U &% Wiy T o Frdslf & orgEn §)

(b) ULT TEAT 42 W 47 T 3 3 A TG-S TB H Tdh G9T &1 S 50 & 80 9=l H |

(c) W HEAT 48 W 49 — DI (AHIeT) X ST 4 37 a1 U ¢ | (FReantyd v= &g Amres
T ST 99l & WM 9 Jebfedsd 99 g ™ 2))

(d) 99T HEAT 50 T 51 — 6 37 AT ArH-—STT B b YD YT B I 80 T 120 o1&l H T

(e) FB Ul H ofidie TFT DI Graer o TN 5| 3MUH! & fabedi § § Had Tk 997 BN 6
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SECTION - A

g — A

1  In which of the following years was the Indian National Congress established? 1
AU TS SR @ @ Frfaftea o @1 o g5 7
(A) 1889 (B) 1858

(C) 1888 (D) 1885

2 Who one from the following started working for the Home Rule Movement 1

in 1914?
(A) Mrs. Annie Besant (B) Lala Lajpat Rai
(C) Jawahar Lal Nehru (D) Muhammad Ali Zinnah

frefatea & 9 fpa 1914 & 3M & oficied & T &M & e fopar ?

(A) Al T S¥e (B) el @S
(C) A=Y @d 758 (D) ¥Hg™E ol foT=
3 At which one from the following place, Gandhiji inspired the peasants to 1

struggle against oppressive plantation system?
(A) Kheda in Gujarat (B) Champaran in Bihar

(C) Ahmedabad in Gujarat (D) Dandi

frrefafaa o @ fpg wme ox g 3 Al & TFHE JAdT ol & faes
"o H % g Gi T ?

(A) TEE 9 @l (B) feer o dumo
(C) 7o 9 SEHarETE (D) ==t
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4  The demand for ‘Purna Swaraj’ was committed in which session of Congress? 1
(A) Nagpur session in December 1920
(B) Chennai session in 1927
(C) Kolkata session in September 1920
(D) Lahore session in 1929
QU @RS DI AN B b hd afds™ § @ T ot ?
(A) feEsT 1920 & AWYR SAfaae™
(B) 1927 # 9=i3 erfuds™
(C) Tadex 1920 9 wicman e
(D) 1929 ¥ WER erfas™

5  Peshwa is related with which one from the following wars? 1
(A) Anglo-Maratha war (B) Anglo-Sikh war
(C) Anglo-Awadh war (D) Anglo-Mysore war

Ugrar &1 dey Frefated el § 9 fead § 7

(A) ST IS (B) siw—fra g
(C) wie—s@ g (D) ete—#ER g
6  Who introduced the permanent settlement in Bengal and Bihar? 1
(A) Lord Irwin (B) Robert Brown
(C) Lord Cornwallis (D) Sir Thomas Roe
T SR faER ¥ W ddia @ g e @ ?
(A) wiE 3T (B) Ts< @A
(C) @€ wivaterd (D) & giwg
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Study the given map and answer the question number 7 to 10.
fou MU AERE F oA FE AR Y9N wEm 7 ¥ 10 7% ® I )

7  Identify the river marked as ‘A’ in the map. 1
(A) The Kaveri river (B) The Brahmaputra river
(C) The Luni river (D) The Godavari river
qEfEs § AT % w9 H fafed & @l weEE wiig |
(A) By (B) sEgA T
(C) A & (D) Ererlt =&
8 Identify the river marked as ‘B’ in the map : 1
(A) The Sabarmati river (B) The Brahmaputra river
(C) The Narmada river (D) The Godavari river
s § B’ b ®9 § fafed 7 @l 9gE iy |
(A) a8 B) g T
(C) =Har -1 (D) et &y

69/MAY/4—213-A ] 6 (R [ Contd...



9  Identify the river marked as ‘C’ in the map: 1

(A) The Kaveri river (B) The Luni river
(C) The Narmada river (D) The Godavari river
s § C’ b B9 H fafed 7 @ 9gE iy |
(A) B B) T
(C) =T -dr (D) TErerl =&y
10 Identify the river marked as ‘D’ in the map: 1
(A) The Kaveri river (B) The Luni river
(C) The Narmada river (D) The Godavari river
qEfEs § D % w9 A fafed 98 @ wewE i)
(A) PR B) &
(C) et (D) TErerdt =&y

Following questions are for Visually Impaired Candidates only in lieu of Q. 7 to 10.

frfafaa 997 Faw gfeafim whenf@i F foo wsw d@m 7 4 10 F @™ W ¥

7  Guwabhati is situated on which one from the following rivers? 1
(A) The Meghna river (B) The Brahmaputra river
(C) The Ganga river (D) The Godavari river
ey Freffad A ¥ ¥ fre W Red 37
(A) e (B) W 7
(C) M = (D) rarardr 7
8  Which one from the following rivers flow into Arabian sea ? 1
(A) The Kaveri river (B) The Brahmaputra river
(C) The Narmada river (D) The Godavari river
frrafafad & ¥ ®F A 941 oR" AR H frerr g 7
(A) et 7 (B) s@gs
(C) T -dr (D) TErerdl =&y
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9  Which one from the following is the longest river of southern India ? 1

(A) The Kaveri river (B) The Luni river

(C) The Narmada river (D) The Godavari river
frfafad & @ @ & el R & aed |4 T8 B 7

(A) el & (B) it 7

(C) =T 99 (D) MEEd &

10 Which one of the following rivers flows in the southernmost part of India ? 1

(A) The Kaveri river (B) The Krishna river
(C) The Godavari river (D) The Mahanadi river
frfeflad & @ @ @ & 9 & G99 RO 9 F g'dr B 7
(A) el & (B) $wm
(C) ierardy =& (D) #eTE
11 Who among the following founded ‘Arya Samaj’ ? 1

(A) Swami Dayanand Saraswati  (B) Raja Ram Mohan Roy
(C) Ishwar Chandra Vidyasagar (D) Swami Vivekanand

freafaiad & @ foae ‘o THIST @l TITAT @ 7

(A) @M egrE qEd (B) ST W WEA 1™
(C) 3% 9% fqamErm (D) @r faaerg
12 Which one from the following longitudes is the easternmost extent of India ? 1
(A) 23° 25' East longitude (B) 8° 4' East longitude
(C) 97° 25' East longitude (D) 37° 6' East longitude
frrfafaa el & ¥ & a1 9T B g9 gai 9 8 7
(A) 23° 25' gt sTax (B) 8° 4' qdt 3gria
(C) 97° 25" gar 39T (D) 37° 6' gdl geriax
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13 The standard meridian of India passes through which one from the 1

following places?

(A) Nagpur (B) Guwahati
(C) Ambala (D) Mirzapur
AT &l Ae Feaed @1 faigd 9 8 68 @ 9 8l ol & 7
(A) YR (B) TEmErE
(C) s (D) fiiige
14 Which one from the following order of Trans-Himalayas mountain ranges 1

from north to south is correct?

(A) Karakoram, Zaskar, Ladakh
(B) Karakoram, Ladakh, Zaskar
(C) Ladakh Zaskar, Karakoram
(D) Zaskar, Ladakh, Karakoram

- vda swenel w1 Frefafed ¥ ¥ @9 91 Sax o e 9@ wh aE % 7
(A) BRIBIH, SR, TEE
(B) @®RIH, WM, ST&hT
(C) &M, SEhT, BRI
(D) SRaR, WEM, HRIBIRA

15 Yamuna, Ghaghra, Gomati, Gandak and Koshi are the tributaries of 1

which one from the following rivers system ?

(A) The Brahmaputra river (B) The Indus river

(C) The Godavari river (D) The Ganga river

AT, =TER, MY, T 8iX Bigh Frefafad 9a o & 9 forgen qerme Al € 7
(A) wEgH T (B) fayg 7

(C) Tererdl 7=t (D) T &
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16 In Bay of Bengal, usually tropical cyclones occur during which one from 1
the following seasons ?
(A) Hot weather season
(B) Cold weather season
(C) Retreating monsoon season

(D) Advancing south-west monsoon season

T Bl @R H, AHAR T IWHICT Fghara Frfaiad § § e Jem & S o & 7
(A) AT g

(B) «ia =g

(C) dred gu AT g

(D) afeor—ufem AT @1 g

17 In which one among the following states of India ‘Lohari’ festival is 1

celebrated ?

(A) Bihar (B) Punjab
(C) Kerala (D) Gujarat
ARG & Frefafad o 9 68 T § ‘ARl ™eR A9l S § ¢
(A) f¥=r (B) dvE
(©) ¥ (D) T
18 The Shiv Sena is the major political party of which one of the following 1
states ?
(A) Maharashtra (B) Tamil Nadu
(C) Punjab (D) Assam
fira 1 freefafaad & o fopd o9 &1 9@ TeHiae  d o 7
(A) oIS (B) dfirerrg
(C) Yo (D) omEw
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19 A person in urban areas need an average of how many calories per day 1

in order to keep himself/herself above the poverty line ?

JEY & A s e bl @I ! TN @1 § HUX @ & fou wfafe efmae feraen
AT B SATAITDAT Bl & 7

(A) 2400 (B) 2300
(C) 2200 (D) 2100
20 Human Development Index has been used by which one of the following 1

organisation to prepare its annual human development report ?
(A) World Health Organisation (WHO)

(B) United Nation Organisation (UNO)

(C) United Nation Development Programme (UNDP)

(D) World Trade Organisation (WTO)

frfafea & @ fope dre g1 srae anfifes A faerrer frare R & & fag wma
T gt & SuanT fear T % 7

(A) fasa @rem @ (WHO)

(B) ¥ g weA (UNO)

(C) #ge e fqam™ &rdwd (UNDP)

(D) fagg =R €@ (WTO)

21 Fill in the blanks: 1x2=2

(a) Annie Besant became the president of the society in 1907.

(b)  established the ‘Mukti Mission’ in Pune, a refuge for young
widows who had been deserted and abused by their families.

e @t @1 gfd s

(a) TAr9EC 1907 ®§ GG @l orege S|

(b)y A g g e @ @I i, SS9 gan fqganstt % e us
I WA o1, = 3% uREr! g B i T Ot ofiR 3% W gEEe
feman T el
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22 Fill in the blanks : 1x2=2

(a) Netaji promised independence to Indians saying, “Tum mujhe
khoon do, main tumhe Azadi dunga”.

(b) The watchwords of the
- inspired the whole world.

fa @Mt & gfd i

(a) TSt T WAl ®I TSIl T el Hid g9 ®el, “J9 g A &, §
J% SSIEl gl

(b)y  hifa % G IR — TN, AT SR S — A g g 1 Ui far

revolution - liberty, equality and fraternity

23 Tick the sentences as True or False: 1x2=2
(a) The American War of Independence and the French Revolution
popularised the feeling of nationalism all over the world.
(b) The revolutonaries were inspired by the ideas of many Enlightenment
thinkers and philosophers such as Voltaire, Montesquieu and Rouseeau.
IRl I WE AT a9 e«
(a) oMER@ wdsar UM iR BT hifd 3 A & HET & QO g ¥

GIEAERICRINESI]

(b) wifeeerdl &% UG foamat ok ansffwet S dicear, iy ok w@r & faam
g i g1

24 Match column ‘A’ with column ‘B’ correctly: 1x2=2

Column ‘A’ Column ‘B’

(a) Arya Mahila Samaj (i) Raja Ram Mohan Roy

(b) Satya Shodhak Samaj (i1)) Pandita Ramabai

(c) Ramakrishna Mission (ii1) Jyotiba Phule

(d) Brahmo Samaj (iv) Swami Vivekanand

BT ‘A’ B Bad ‘B’ H FEI e i
Fem ‘A’ Fiam ‘B’

(a) oM mfewr T (i) =T TH Hied ™

(b) T& 9NYd T (i) dfear T

(c) TG e (iii) <ufasT $a

(d) & 99 (iv) @MY fagemg
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25 Identify the name about whom the sentence is related with : 1x2=2

(a) He was fearless and believed in the urgent need for unification of Germany.

His policy came to be known as ‘Blood and Iron’ policy.

(b) He and his wife, Savitribai Phule, are most known for their efforts to

educate women and the lower caste as well as masses.

SH M H qgAH EE ¥ O qeid @

(a) 9% =T a1 3T STHAT & UDHIBTOT DY qblel SIThal H fI9aTed HIar or| el
Aifl B T ST Wi’ A % B H ST AT §

(b) ar X S aeh, T G, wfeanant ok fraelt il & |rg—ary sar @
fafera & & ooyl & fow S S #)

26 Complete the following sentence with the help of any one from 1x2=2
given options :
The Revolution tore down the medieval structures of Europe

and brought in new ideas of liberalism and nationalism. France witnessed a

complete change in the government, administration, military, society and culture.

France became a republic under Bonaparte.
Option :

(A) American, Bismarck (B) French, Napoleon
(C) Russian, Lenin (D) French, Bismarck

fau g fameal ¥ ¥ e ue @ gerar ¥ frefaiad e @ gu s
it = YT T AEAGAN 18T &1 i fohan ofR Iarams, g
% AU foaml | WiE ¥ Ue qul ufiaed, U9, o, 9Ee ofiR d@enfa ® ufied el

HiE IR % qEd Th S q9 T4

foreheu:

(A) mfa, fawmd (B) widE, Auifess
(C) @i, dfm (D) Wi, T
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27 Complete the following sentence with the help of any one from given options : 1x2=2

India accounts of the total world land area and latitude

passes through almost centre of the nation.

Options :
(A) 4.42%, 33° 30" North (B) 4.24%, 33° 30" South
(C) 2.42%, 23° 30" North (D) 2.42%, 23° 30" South
feq Tq famedl § ¥ fedl U @ werar ¥ felaRad e & QU s
fasa & pa d=wa & IRd # § & STETST 39T 6 T Bt
Y BHY oI B
farea:
(A) 4.42%, 33° 30" 3qX (B) 4.24%, 339 30" 3fequr
(C) 2.42%, 23° 30" 3aX (D) 2.42%, 23° 30" 3fequr
28 Complete the following sentence with the help of suitable words: 1x2=2
The word Monsoon is derived from the Arabic word which means

SUYA JTal B TErEdr ¥ frefafad @ @ R i

AAEA T STl 9T g forar mn & e ot §

29 Complete the following sentence with the help of suitable words: 1x2=2
The Vidhan is a permanent house, and hence it is not dissolved.
Members are elected / nominated for a period of years.

SUgERS Il B gerddl 4§ frfaiad g B g S
faqem Th Wl g §, o g@iy ge U e el &) "I’ @l

I & orafy & fau faifad/Amifea fear Smar #1
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30 Fill in the blanks : 1x2=2
(a) A judge of the Supreme Court can be removed through the process of

(b) The ultimate power of interpreting the Indian Constitution lies with the

Court.
(a) @ UiohdT % WIEgW ¥ Hded <rad % AT Bl ™l S Hahdl o |
(b) WA WG & AT & & SifeH iR g % U
31 Fill in the blanks : 1x2=2
(a) A practice where a person compelled to serve without any payment is
called
(b) No bill can become a law unless it is signed by the
o et & gid @i
(a) O W el Red R B AT RS T % AT B B Y weeR R
ST § 39 HET ST 5 |
(b) @5 Al {999 T % B ol a9 Thal o9 q%b 39 W % TEEX
T &
32 Complete the following sentence with the help of suitable words : 1x2=2

The Judges of High Court hold office till they attain the age of
years. However, a Chief Justice or a Judge can resign. A Judge can be removed
from office through an process by parliament on grounds of proved

misbehaviour or incapacity.
SUGHT TR B GETAl ¥ FrAfRaT TR B BT
ST AT b TS Y I TG YT BT O & IX I & & | BTAlTeh,

T Y AT AT AT SKIG < ohdl & | | harard AT STEdT & STER WX
T TS B HEE & UishAT % HTEAH ¥ 9T ¥ BT 1 Hehdl § |
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33 Complete the following sentence with the help of suitable words: 1x2=2

If a vacancy is caused because of resignation or removal or of the

President then Vice President acts as the

SUYH gTEl DI GEEd ¥ Frefafad ae e QU sl

TR & ARUS o, AR Bl M 3Tgar gdfa & % B0 fE gu
g U JUEAl ®I qif B BT B

34 Complete the following sentence with the help of suitable words : 1x2=2
The Prime Minister is the Ex-officio Chairman of the Commission

as well as the National Development Council. He/She represents the nation at

the international conference as the head of the
SUYH gT&l DI GEEdr ¥ Frefaiad ae e QU sl

T H#A AN & WY—-EY WL e uive & ged ey 1
% U@ % T H SOUEE THEH! § Y & AW ST 6|

35 Tick the sentences as True or False : 1x2=2
(a) Regional political parties have emerged to fulfil regional aspirations.

(b) At present in India, there is two party system.
Rl I WE AT T WX 9 T

(a) &g eI a0 &Eg STehiestl Bl U B & a7 39K & |
(b) IdH™ T ¥ ARG ¥ fEaei sgemr )
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SECTION - B

gug — q

36 Describe Jaintia and Garo Rebellion in brief. 2
Tat~qar MR MR fagiE &1 989 § Iuie @)

37 Why children were preferred as worker in coal mines during 18t century ? 2
Explain any two points:
18 & oIl & IR HEw WMl § b & € § qedi Bl wfHbar & a1 T8 7
fohel a1 BRI B W= BT |
OR / 31y

Explain the meaning of Imperialism.

AR’ & A B WL HIT|

38 Find out the minimum number of states which you need to cross, if you 2

want to move from Gujarat to Assam by road.

gie oY s g1 O § @9 ST d16d & dl 9l L [ 39! HH § &4 e
Tl Bl U HIAT BT 7

39 Which qualifications are required to be a judge in High court? 2
Explain any two.
Sod AT H AL S99 % QB9 9 arade sresdsd § ¢ fhwl a1 bl we
I |
OR / 3@t
Explain the importance of ‘no confidence motion’ in the Indian Parliament in

two points.

AR T8989 SMfaeamd yaa’ & 98 @l & G5l 9 W S|
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40 Why are Civil Society Organizations considered a new form of mass 2

pressure tactics ? Explain any two points.

fafaq el @ eAl @ 9Rd 9 9w ST YOI B Teb 9T &9 i AT Sl
T 7 fopedl @ B w T Hifg

41 "The purchasing power of different currencies varies substantially in the 2

world." Explain the statement in two points.
“fqeq 9 STAT—STET TSl Dl TRy T sral & 17 &Y figatt o 39 wed @& s
BT |

OR / 3ty

"Many major steps have been taken towards women empowerment in India."

Explain any two steps.

‘e ® Afedr GYERiEHOr B e ¥ 3 WW wad ISIC W 1 TRl aF want @
Tl BT

42 Explain any three consequences of Second World War. 3

feda fasa gg & fowl i ol &1 =men st

43 Explain any three reasons of the uneven distribution of rainfall in India. 3

qd H a9 & EHH faawer & Bl 9 dRul @&l W Hifg|
OR / @

Explain in any three features of the Central highland in India.

ARA | s sy &l fh=l aF fagiuaret o @ Hifsg)
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44 Describe in any three executive powers of Governor in India. 3
ARG # Togue ol el A eriurfades dedt gifeat @1 aue st
OR / 3ty

Explain in any three executive powers of the President in India.

qa & Tyuld @ fB=l 9 wrddtfeer gee otferaal @1 auie Hifwg |

45 Explain the three main indicators of Human Development Index. 3

AHa fawrd gadie & dF YW Hhdhl Bl ATl it |

46 How casteism is a challenge to Indian democracy ? Explain in 3
any three points.
SftreTe ST i % R e S T TR ? et i Rgalt 3 e i)
OR / 31y

How criminalization of politics is a challenge to Indian democracy ? Explain

in any three points.

TSI T STIENB0T WA Alha™ & Y g T Tes g o ¢ foheel o fagant
¥ W B

47 Suggest any three corrective measures for ‘universal literacy’ 3

(Education for all).

e e (@ash o firan) & o 6t O gamiere surEt @ gy
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48 The following four places related to the transportation facilities in India  1x4=4

are marked as A, B, C and D on the given outline political map of India.
Identify these places with the help of the following information and write their
correct names.
AR & fIU 0 ®o@r Teiae 9Ees I 9Rd | 9iEsd gianst ¥ d@etua
frefafea ar @l & A, B, C ok D & &v ® faftwa forar wn &) Fe=fafea
BRI %I GeTaal § 37 @ bl 9gaH X 3% qel a1 g |
(A) The southernmost terminal station of North-South Corridor

S-S0 TfeEn &1 ged Sferelt 2RiFE wee
(B) An international airport in Karnataka.

Fted ¥ Th SR Ta oTE
(C) An international airport in West Bengal.

U MW § UH SN gaTg T
(D) A major seaport in Odisha.

3Mfesm ¥ U gq@ §TME
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Following questions are for Visually Impaired Candidates only in lieu of
Q. No. 48.

frfafaa wem Faw gfeafum whenf¥@i ¥ foro wew dem 48 & W W T

(A) Name the southernmost terminal station of North-South Corridor.

TA—EI0T A 1 G99 g1l 2fHFe @9 &l M fafau)

(B) Name the place where an international airport is located in Karnataka.

o WM &1 AW gy el diesd ¥ Us siai waE oEr Rua ¥
(C) Name the place where an international airport is located in West Bengal.
o9 W &1 AW fafgy wf aim e § ue sl g e fRua )
(D) Name the place where major sea port is located in Odisha.

39 W & 99 fafgy sl enfesm § uw yHE §90mE Ryd §1

49 In the given political outline map of India mark and label the following 4

with appropriate symbols:
R & Uiy @ qres § frefafad o Sfaq faegl @ siftd vy ek 37
M fafea:
(I) Indira Gandhi International Airport
sfer M s &arg e
(I) Sabarmati River
RISEGRINGE
(IIT) Nilgiri Hills
RISIUIREEIER ]

(IV) Westernmost terminal station of Golden Quadrilateral

@ agdst &1 a99 qiadl <Had ®eH
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50

51

69/MAY/4—213-A ] 22 (R [ Contd...

Following questions are for Visually Impaired Candidates only in lieu of
Q. No. 49.
frfafaa wem Faw gfeafim whenf@i F oo uew dem 49 F W W ¥

(I)  Write the name of the place where Indira Gandhi International Airport is
situated ?
S WM & AW T Wt g e s ward ergr Rua ¥

(IT) In which Indian state Sabarmati river flows ?

EEA Tal 9Rd & e o0 98l 8 7
(III) Name the states where Nilgiri hills are located ?

S Tl & AW SaEY WEf AR gsisar Rad ¥
(IV) Name the westernmost terminal station of Golden Quadrilateral.

@it Igys & 999 giadl fiNa RN & 9 SaEy|

Explain six major causes of Russian Revolution.
&G Hifd % B: TG BN B WL BT
OR / 31y

Explain the Socialist movement and its impact in Russia in any six points.

TG H GENER] SREE 338G THEN & B [Sge § ' i)

Explain the Right to Freedom of Religion mentioned in Indian Constitution

in any six points.
ARG dfaas § aftfq a1fife @ & afier o 5: faget § s sy
OR / 3@t

Explain any six Fundamental Duties mentioned in the Indian Constitution.

RArE diaam 9 aftia feei ©: Hifas wdal @l e Hifg |
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Map for Q. No. 49
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This Question Paper consists of 51 questions and 22 printed pages + 1 Outline Map of India.

79 Y- § 51 YT A0 22 YHA U= + 1 WA H WA €|
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General Instructions :

1. Candidate must write his/her Roll Number on the first page of the Question Paper.

2. Please check the Question Paper to verify that the total pages and the total number of

questions contained in the Question Paper are the same as those printed on the top of the

first page. Also check to see that the questions are in sequential order.

3. Forthe objective type of questions, you have to choose any one of the four alternatives given in

the questions i.e. (A), (B), (C) and (D) and indicate your correct answer in the Answer-Book

given to you.

4. All the questions including objective type questions are to be answered within the allotted

time and no separate time limit is fixed for answering objective type questions.

5. Making any identification mark in the Answer-Book or writing Roll Number anywhere other

than the specified places will lead to disqualification of the candidate.

6. Candidate will not be allowed to take Calculator, Mobile Phone, Bluetooth, Earphone or any

such electronic devices in the Examination Hall.

7. In case of any doubt or confusion in the Question Paper, the English Version will prevail.

8. Write your Question Paper Code No. 69/MAY/4, Set- on the Answer-Book.
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9.

(a) The Question Paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the questions will be yours only.

A ST

1.
2.

3.

TUETET YT % Ugd Y56 UX U SR sy fod |

FUAT YT-TF Bl g & 6 T-UA b P goi qoT YAl Bl I & e & e gum
U % q99 HUX BU $1 39 91 B Sig W B o 6 YT e ' OH ¥

TS weAt F eyl AR fasedt (A), (B), (C) 9T (D) ¥ ¥ ®13 TF SaX gvl & aor &
T SE-gRasr § gl wu forae

TEgFTss UsAl & TI-| FH YAl % wax faifia orafy & ofiax & 3 ¥ | o wedl %
g ot @ wwy el e s

SA-gRaem ¥ TeaM-Tag a9 otuar ffdse Wt % srfafed @i |l ershHie faes uX
el Bl ST ST SR

e Bl e B | hogpeiey, AN B, Y, TATHM o [BUT Hl Felagie SuBl
B T W BN STACT TR

A9 § el W1 U % dae Sreen gfaen o Rafa ¥ SHN Sae & A BN

IO IA-GRABT T FUT BN DI GET 69/MAY/4, Set-[B]| fre |

(%) 99 haw S/ Aregw # &1 BT Y, AfY ey A€ o T & 72 el ww W
¥ IO < Gahd © -
AfoTg, srafr, Jure, B, Wwpd o T
FuAT IA-YRasr A fiw U aie ¥ faw f6 o fpw wwr § X fow @ ®

(@) afy ey & ud el & srfafiea frdl o W & soX f@d ¥ O wost & g9z
¥ e ot Jfeat | afn @ el Baw sy gl

.

NOTE / it :

(1) Answers of all questions are to be given in the Answer-Book given to
you.
9l TRl oh IR SAHRT & TR I giken | & ford |

(2) 15 minutes time has been allotted to read this question paper. The
question paper will be distributed at 02.15 p.m. From 02.15 p.m. to
02.30 p.m., the students will read the question paper only and will not
write any answer on the answer-book during this period.
T Y951 I Ygd & fau 15 e o1 wm o @ ® | 999 o1 foror et
T 02.15 ot foram ST@m| 02.15 &t @ 02.30 &1 T S hadl Y- hl T
3R 39 Fafr & SRE 3 SW-Yeh R g ST & forad |
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SOCIAL SCIENCE
HAHMF 5T

213)
Time : 3 Hours | [ Maximum Marks : 100
{4 : 3 o ] [ quiik : 100
Note :
(i)  This question paper consists of 51 questions in all.
(ii))  All questions are compulsory.
(iii) Marks are given against each question.
(iv) Section - A consists of
(a) Q.No.1 to20- Multiple Choice Type Questions (MCQs) carrying 1 mark each. Select and write
the most appropriate option out of the four options given in each of these questions. Alternative
questions are given in lieu of Question No. 7 to 10 for Visually Impaired Candidates Only.
(b) Q. No. 21 to 35 - Objective type questions carrying 2 marks each (with 2 sub parts of 1 mark
each in some of these questions). Attempt these questions as per the instructions given for
each of the questions.
(v)  Section - B consists of
(a) Q. No. 36 to 41 - Very Short answer type questions carrying 2 marks each to be answered
in the range of 30 to 50 words. Attempt these questions as per the instructions given for each
of the questions.
(b) Q. No. 42 to 47 - Short answer type questions carrying 3 marks each to be answered in the
range of 50 to 80 words.
(c) Q.No. 48 & 49 - Skill (Map) based questions carrying 4 marks each. (Alternative questions
are given in lieu of map based questions for Visually Impaired Candidates.)
(d) Q. No. 50 & 51 - Long Answer type questions carrying 6 marks each to be answered in the
range of 80 to 120 words.
(e)  An internal choice has been provided in some of these questions. You have to attempt only
one of the given choices in such questions.
e :
() 39 9 ¥ P 51 YA ¥l
(i) W 9T sfEd ¥
(i) wR v F i Tk WU T W ¥
(iv) @ — 3 & 99T o ghHfed &
(@) WS HEA 1 ¥ 20 T% 1 3% I TEIHeT YR & 997 (MCQs) ¥ | e & 9 faseat & &
it Iuga fabed B g+ qor o | gheattya sl 3g T W@ 7 9 10 & WH W Jbis
99 g ™ 2
(b) ¥T TEAT 21 | 35 TF 2 3% A IEIMTS WHR b YT &1 (3T T B U H UAE 1 3% &
2 IU-ATN &% A1) | 37 YA BT I Y1 & A1 7 7 Frdenf & orgam i |
(V) @ —qF Y

(2) ¥eT €& 36 W 41 T 2 3% A MG TY-IAAT TBR % YA U 1 IaX 30 & 50 9=
# AR 37 v &1 IAX U &% Wiy T o Frdslf & orgEn §)

(b) ULT TEAT 42 W 47 T 3 3 A TG-S TB H Tdh G9T &1 S 50 & 80 9=l H |

(c) W HEAT 48 W 49 — DI (AHIeT) X ST 4 37 a1 U ¢ | (FReantyd v= &g Amres
T ST 99l & WM 9 Jebfedsd 99 g ™ 2))

(d) 99T HEAT 50 T 51 — 6 37 AT ArH-—STT B b YD YT B I 80 T 120 o1&l H T

(e) FB Ul H ofidie TFT DI Graer o TN 5| 3MUH! & fabedi § § Had Tk 997 BN 6
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SECTION - A

gug — A
1  Indian National Congress was founded by who among the following ? 1
(A) Gopal Krishna Gokhale (B) M. K. Gandhi
(C) Lord Curzon (D) A. O. Hume
WA TT Hid B e Frafafed & & feases g @ w7
(A) U HWT TE (B) wH. &. Tieh
(C) i€ ol (D) T . &g
2 Who introduced the permanent settlement in Bengal and Bihar? 1
(A) Lord Irwin (B) Robert Brown
(C) Lord Cornwallis (D) Sir Thomas Roe
I SR fER § Wl dee Bl e fhe @l 7
(A) @i e (B) e wrad
(C) @M€ wivarterd (D) & giwg

3  Who one from the following started working for the Home Rule Movement 1

in 19147

(A) Mrs. Annie Besant (B) Lala Lajpat Rai

(C) Jawahar Lal Nehru (D) Muhammad Ali Zinnah
frrefeied & & feam 1914 & 8M & sficie & T &M & ge fowar?
(A) Fri Tl dEe (B) ol @roiad

(C) WA’ | «8% (D) g™ ol fSt=
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4 At which one from the following place, Gandhiji inspired the peasants to 1
struggle against oppressive plantation system?
(A) Kheda in Gujarat (B) Champaran in Bihar
(C) Ahmedabad in Gujarat (D) Dandi
frrefafaa o @ fpg e ox g 3 Al &1 THw ey gurel & faes
god o & g af fman

(A) o H @ (B) faer & Fumwr
(C) Tod ¥ SEHeNTR (D) ==
5 In 1615, who received permission from the Mughal emperor Jahangir to 1

open more factories in Agra ?

(A) St. George (B) Lord Cornwallis

(C) Lord Irwin (D) Sir Thomas Roe

1615 ¥ 97e 91EeME SerR & o 9 &fX i dREm @A &l STgAfd
forem uTa @ ?

(A) ¥z st (B) @S iarad

(C) e s (D) ®X gmE

6  The demand for ‘Purna Swaraj’ was committed in which session of Congress? 1
(A) Nagpur session in December 1920
(B) Chennai session in 1927
(C) Kolkata session in September 1920
(D) Lahore session in 1929
quf T A AT B b e AR ¥ ) T 7
(A) fedax 1920 % 9FgR sifase
(B) 1927 ® ¥=13 erfuds™
(C) fadax 1920 ¥ wiwean @y
(D) 1929 ¥ WER Tt
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Study the given map carefully and answer the questions from 7 to 10.

fou T AERE W AEYEE e AT SR YR wen 7 @ 10 7% F e S|

o4 o S e Bt B e o

7  Identify the river marked as ‘A’ in the map. 1
(A) The Kaveri river (B) The Brahmaputra river
(C) The Luni river (D) The Godavari river
qAfEas # ‘A’ % w0 H fafed T&l @ 9EdE i |
(A) Bl & (B) s@gs
(C) o A (D) Tiererdy =&
8 Identify the river marked as ‘B’ in the map : 1
(A) The Sabarmati river (B) The Brahmaputra river
(C) The Narmada river (D) The Godavari river
AEeS § ‘B % w4 # fafed T&I @ g9 i)
(A) w6 (B) e T
(C) T - (D) ererdr &
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9  Identify the river marked as ‘C’ in the map: 1

(A) The Kaveri river (B) The Luni river
(C) The Narmada river (D) The Godavari river
qEfEs § ‘C’ & ®9 ¥ fafed 7 @ 9g€E iy |
(A) Rl T B) T T
(C) T -dr (D) Tiererd =&y
10 Identify the river marked as ‘D’ in the map: 1
(A) The Kaveri river (B) The Luni river
(C) The Narmada river (D) The Godavari river
qEfEs ¥ D % w9 A fafed 98 @ wewE i)
(A) w8 (B) o &
(C) w¥ar -&r (D) TheTady =&
Note :  The following questions are for visually impaired candidates only in lieu

of Q. No. 7 to 10.
e frfafaa wew Faw gfeafim wdeafE % g uew @en 7 § 10 F wW w )

7  Guwabhati is situated on which one from the following rivers? 1
(A) The Meghna river (B) The Brahmaputra river
(C) The Ganga river (D) The Godavari river
TErErer Frefated Afedl § ¥ fhe wX fuq &7
(A) #HeaT T (B) s@gs
(C) T =&r (D) TheTady =&
8  Which one from the following rivers flow into Arabian sea ? 1
(A) The Kaveri river (B) The Brahmaputra river
(C) The Narmada river (D) The Godavari river
frrefaried & | &9 d1 a1 o9 PR H el § 7
(A) w1 T8 (B) Fegs =
(C) T - (D) Ererl =&y
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9  Which one from the following is the longest river of southern India ? 1

(A) The Kaveri river (B) The Luni river

(C) The Narmada river (D) The Godavari river
frfafad & @ @ & el R & 99 |4 T8 B 7

(A) @l 7 (B) it 5

(C) et 7t (D) Tiererdt

10  Which one of the following rivers flows in the southernmost part of India ? 1

(A) The Kaveri river (B) The Krishna river
(C) The Godavari river (D) The Mahanadi river
frafafad & & @ & T8 9 % G99 AU AW F S5l 8 7
(A) et T (B) &wm T
(C) Merert 7 (D) weTTer
11  Human Development Index has been used by which one of the following 1

organisation to prepare its annual human development report ?
(A) World Health Organisation (WHO)

(B) United Nation Organisation (UNO)

(C) United Nation Development Programme (UNDP)

(D) World Trade Organisation (WTO)

frfafad o & forg dTeT g ool aitics Aa [ e R i & faQ A a
faena gaeie &1 IUAN fepdT AT & 7

(A) fasa @ren @ (WHO)

(B) dg« g "ws (UNO)

(C) g W T ®Ewa (UNDP)

(D) fagg =R &med (WTO)
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12 Which latitude represents the southernmost point of the mainland of India? 1

(A) 8° 4' North Latitude (B) 8¢ 4' South Latitude
(C) 18° 45' South Latitude (D) 18° 45' North Latitude
BT &I AT Bl &I i & Ta9 feron f§g @l g § 7
(A) 8° 4' IqQ araiaT (B) 89 4' gferur araier
(C) 18° 45" gfeqor aravist (D) 18° 45' T araaist
13 A person in urban areas need an average of how many calories per day 1

in order to keep himself/herself above the poverty line ?

JEY & H s Aferd bl Wd ! TS 3@ § HUX @ & g wfafe efmae feran
AR B SFTAITHBAT Bl & ¢

(A) 2400 (B) 2300
(C) 2200 (D) 2100
14 In which one among the following states of India ‘Lohari’ festival is 1
celebrated ?
(A) Bihar (B) Punjab
(C) Kerala (D) Guyjarat
IR & Frefaiad o @ 68 g o ‘el "B Al S 8 ?
(A) fo=r (B) dE
(C) (D) T
15 Which river system do the Chenab, Ravi, Beas, Jhelum and Sutlej rivers 1
belong to?
(A) The Godavari river (B) The Indus River
(C) The Ganga River (D) The Brahmaputra River
o, @, <, few 8l |agel Aedl e 6l dF ¥ deta €7
(A) el T B) fig 7@
(C) = (D) sy T
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16 Who among the following founded ‘Arya Samaj’ ? 1
(A) Swami Dayanand Saraswati  (B) Raja Ram Mohan Roy
(C) Ishwar Chandra Vidyasagar (D) Swami Vivekanand

ffafad & 9 feem ‘omd gumer @ wnuAT @y 7

(A) @™ TOHE g (B) =T T Hied 1™
(C) 331 9% faamarr (D) w@r faders
17 The standard meridian of India passes through which one from the 1

following places?

(A) Nagpur (B) Guwahati
(C) Ambala (D) Mirzapur
HRA &l Ad Feared (@1 faiad 9 8 fpd @ 9 8l ol & 7
(A) TR (B) TEmErE
(C) orTan (D) fieiigR
18 Which of the following political parties leads the National Democratic 1
Alliance (NDA)?
(A) Bahujan Samaj Party (B) Bharatiya Janata Party
(C) Indian National Congress (D) Communist Party
frrfaiad & o @ |1 UeHiiae T TS sdits Teaed (NDA) &1 Aga &l & ?
(A) qgo T Tl (B) YA S9aT Ut
(C) ¥R T B (D) FHgfre aret
19 Which one from the following order of Trans-Himalayas mountain ranges 1

from north to south is correct?

(A) Karakoram, Zaskar, Ladakh  (B) Karakoram, Ladakh, Zaskar

(C) Ladakh Zaskar, Karakoram (D) Zaskar, Ladakh, Karakoram
T vdd el w1 FMefaiad ¥ § B 91 Sa% § S99 96 HH Ge 5 7
(A) HHIH, ST, TEE (B) ®RIIRH, WEME, ST

(C) g™, ST, HIRIHIHA (D) SR, WEM, HRIDIHA
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20 In Bay of Bengal, usually tropical cyclones occur during which one from 1
the following seasons ?
(A) Hot weather season
(B) Cold weather season
(C) Retreating monsoon season

(D) Advancing south-west monsoon season

A DI GIST H, AR I IVHICTIR Aehald MR § § e HIEH % QI ST & 7
(A) A1 =g

(B) o %g

(C) e g AT g

(D) sfeor—afim AT Bt g

21 Complete the following sentence with the help of suitable words: 1x2=2
The Vidhan is a permanent house, and hence it is not dissolved.

Members are elected / nominated for a period of years.

SUgA ST I weddl ¥ FrAfatad 9 B QR B

faem Th WA WeA ¥, ¥R MU gE AU TR BT ¥ GIEi bl
qY @ oAty & Ty faitaq/Amitea fear sar §1

22 Fill in the balnks : 1x2=2
(a) The Khilafat movement started by the Muslims and the
movement led by Gandhiji merged into one confrontation against the
British government.
(b) Hindus and tied rakhi on each other’s hand to show their
unity and their protest.
Fea i @Y TR BT
(a) FEaEE! & & R T fRaeed Stieia S sl & g o
afiere fafeer g & faes uw |y freem o 93|
(b) fegait o T T webdn ST arae ey R % e um-ga %
T T @l i
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23 Complete the following sentence with the help of suitable words: 1x2=2

The word Monsoon is derived from the Arabic word which means

SUgHl gl dl WEEar ¥ frefaiad 9 @l qu it
AFYT TR STEl TR Y foar T § e oy ®

24  Complete the following sentence with the help of any one from given options : 1x2=2
India accounts of the total world land areca and latitude

passes through almost centre of the nation.

Options :

(A) 4.42%, 33° 30" North (B) 4.24%, 33° 30" South

(C) 2.42%, 23° 30" North (D) 2.42%, 23° 30" South

feq U famedl § 9 fpdll U@ &1 Herar | MEaRad ate & QU it

fasa & @ &wa &l qRA ¥ § oK STEATT I B AT b5t

Y BT oIl B

farea:

(A) 4.42%, 33° 30" 3qX (B) 4.24%, 33° 30" gfe1ur

(C) 2.42%, 23° 30" 3qX (D) 2.42%, 23° 30" 3ferur

25 Fill in the blanks: 1x2=2

(a) Annie Besant became the president of the society in 1907.

(b)  established the ‘Mukti Mission’ in Pune, a refuge for young
widows who had been deserted and abused by their families.

e @t &1 gid s

(a) TAFES 1907  HEEd Dl e |

(b)y A g g e @ @I i, S SA gan fqganstt % e uw
A WA o1, = % IRER! g B i T Ot ok 3% W gEEei
fepa T o
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26 Tick the sentences as True or False: 1x2=2

(a) The American War of Independence and the French Revolution

popularised the feeling of nationalism all over the world.

(b) The revolutonaries were inspired by the ideas of many Enlightenment

thinkers and philosophers such as Voltaire, Montesquieu and Rouseeau.
IRl I e AT Td WX e
(a) oM@ WE=ar UM SR BEMT Shifd o TSgaR &I A& B QU g o

GIEAERECRINESI]

(b) wifterl &5 gE faamal o effiel 1 aeear, Aidwry ok &al & foam
¥ ika &

27 Match column ‘A’ with column ‘B’ correctly: 1x2=2

Column ‘A’ Column ‘B’

(a) Arya Mahila Samaj (i) Raja Ram Mohan Roy

(b) Satya Shodhak Samaj (i) Pandita Ramabai

(c) Ramakrishna Mission (iii)) Jyotiba Phule

(d) Brahmo Samaj (iv) Swami Vivekanand

B ‘A’ B BHlew B’ ¥ HE i aifea:

FaH ‘A’ Fed ‘B’
(a) oI HAfEAT GEI (i) T XM AR ™
(b) TH NuE A (ii) dfear TR
(c) e fHe (iii) <efoaT g
(d) = g9 (iv) @ faders
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28 Identify the name about whom the sentence is related with : 1x2=2

(a) He was fearless and believed in the urgent need for unification of Germany.
His policy came to be known as ‘Blood and Iron’ policy.

(b) He and his wife, Savitribai Phule, are most known for their efforts to
educate women and the lower caste as well as masses.

9 M &l weAr fed ¥ 9 SEid @

(a) 9% =T I1 ST STHAT & UDHIB IO DY qblcl SMIThal H fI9aTe HIar or| el
AT B TR ST Wle’ AT & TG H A ST S

(b) ar 3R I T, Wife=ETE Fol, Afearstl 8fX ! SiIid & a1 ST &
e & % T Tl % T S S )

29 Complete the following sentence with the help of any one from 1x2=2
given options :
The Revolution tore down the medieval structures of Europe
and brought in new ideas of liberalism and nationalism. France witnessed a

complete change in the government, administration, military, society and culture.

France became a republic under Bonaparte.
Option :

(A) American, Bismarck (B) French, Napoleon
(C) Russian, Lenin (D) French, Bismarck

fou T fawedt & 9 fRE uw @ wEEar @ frafafea Qe @ g st
C oifa 3 A Bt weEgie SeaAnelt & ofd fpar o SeranR, are
% AU foaml | Wi W ue qui ufiaed, U9, o4, 9Ee ofiR d@enfa ® ufiedd el

Hid I % TEd TH U a9 T4

foreea:

(A) ot faemdh (B) wigEl, Sdifaad
(C) w&, dfm (D) Wi, T
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30 Tick the sentences as True or False : 1x2=2
(a) Regional political parties have emerged to fulfil regional aspirations.
(b) At present in India, there is two party system.
IR X Gl A1 Tad 9 e @
(a) &R IS 30 S STBIETel Bl Y B & [T IHL 2|
(b) oHN T ¥ WRA H fagem e )

31 Complete the following sentence with the help of suitable words: 1x2=2

If a vacancy is caused because of resignation or removal or of the

President then Vice President acts as the

SUYHT JTal bl TErEdr ¥ frefaiead e @ g i

TR & ARUS o, AR Bl 2 3Tgar Tgdfa & % B fE gu
U UX IURTEAfd ®T Wifq B B B
32 Fill in the blanks : 1x2=2

(a) A judge of the Supreme Court can be removed through the process of

(b) The ultimate power of interpreting the Indian Constitution lies with the

Court.
o =l @ gfid @it
(@ % UReaT % Hream ¥ gdied AATEA b AT Bl T S Gehdl & |
(b) RO Gfaeam @ e ® & Siftw fld . NOwd % 99 8|
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33 Fill in the blanks : 1x2=2
(a) A practice where a person compelled to serve without any payment is
called

(b) No bill can become a law unless it is signed by the
fea Tt @1 i it
(a) UH 9T SEl fdl cafed @ f&AT el YIam & gem Wi & e Aty fean

ST ¥ 39 el ST ¢ |
(b) iz At fqdue a9 9% HFF & 99 ThaT 99 qB IF W &% TEEAX
T &
34 Complete the following sentence with the help of suitable words : 1x2=2

The Prime Minister is appointed by the President but the President has to
invite only that persontobethe = whoisthe = of the majority
in Lok Sabha.

SUYH S| Dl GEEdl ¥ Efaigd e Bl G By

were s Y Prgfer Tl ST @ W § aReT TEuRt B baw o6 it B
. H w0 omHbNd AT BT §, Wl @hHI W SgAd Bl Bl B

35 Complete the following sentence with the help of suitable words : 1x2=2
The Judges of High Court hold office till they attain the age of

years. However, a Chief Justice or a Judge can resign. A Judge can be removed
from office through an process by parliament on grounds of proved

misbehaviour or incapacity.
SUYHT JTal b TErEdr ¥ frefafead @ @ QR i
ST AR % =TT I %I TG YTl BT b & IX I & & | BTAlieh,

T & ATENST AT TS S < Gohd & | TS HIMA AT STEAT % SR IT
Teh TS ®l §E8 & GishdT & HIEgH § UE § ST O "ol &

69/MAY/4—213-B | 16 (R [ Contd...



SECTION - B

gog — q

36 Why are Civil Society Organizations considered a new form of mass 2

pressure tactics ? Explain any two points.

fafaa el @ el & 9Rd 9 Arfew S99 Gl B Tb 491 &Y I AT Sl
T 7 fpeet & Bl w W ATl

37 Find out the minimum number of states which you need to cross, if you 2

want to move from Gujarat to Assam by road.

gig 39 TS &1 T[Od ¥ 3THH ST d1ed & ol Ual 6L b T9e B4 9 & foha
Al Bl IR HEAT BT 7

38 Describe Jaintia and Garo Rebellion in brief. 2

Stafaar ofk TR fagie &1 984 § 9uig #ifsm)

39 Mention any two qualifications needed to be elected as a member of 2
Rajya Sabha.
o9 g1 & dew faifad s & g Rl a1 argaretl & Swi@ diig | 2
OR / 3t

Mention any two qualifications required to be elected as the President of India.

HIXA o TSZUNT % B9 H I S o {07 foh=el a1 aTasass Araarsll &l Swid i |
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40 Why children were preferred as worker in coal mines during 18t century ? 2
Explain any two points:
18 & oTaTedl % IR BIAAT WM § AfHb &% &I | qedl Bl Wrefienar w4 a1 TS 7
Tl 1 Bl Bl W I |
OR / 3t

Explain the meaning of Imperialism.

AR’ & A B WL HIT|

41 Explain any two measures for economic empowerment of socially 2

disadvantaged groups in India.

ARG o dMIe €9 o dfad @l & oMfde GreRile ol & fhwel & Iurdl @
W HIT

OR / a1yt

Explain the inequality of per capita income in India in two points.

qRA H Ui AfeRT o 1 STEAMT & & faigetl § @ S|

42  Explain any three immediate consequences of the First World War. 3

I {99 g8 % O qIchlide G @ el i |

43 Suggest any three corrective measures for ‘universal literacy’ 3
(Education for all).

et |rerar (Tas foe firem) & fau feel dF garaets Sual @ gamsy
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44 How casteism is a challenge to Indian democracy ? Explain in 3

any three points.
STIETE WA Arbas % 1] o Y U AN © ¢ fheel diF [9gall o W BT |
OR / 3@t

How criminalization of politics is a challenge to Indian democracy ? Explain

in any three points.

TSI BT SR ARG Albais % [T 68 UK T Al ¢ ¢ el di fargatt
¥ W BT

45 How is terrorism a challenge in Indian democracy? Explain in three points. 3

STiehaTe fohe Wb WA ihas % TH& Al & 7 diF [§gall § W Sl |

46 Explain any three reasons of the uneven distribution of rainfall in India. 3
AT # au &% A fIaeer & fhel dF HIel & W it
OR / 3t

Explain in any three features of the Central highland in India.

IRA # Hg Seayq¥ &l fhel qF fagvdren & we S|

47 Describe in any three executive powers of Governor in India. 3
ARG # Togue ol [l A eriutfad dedt gifeat @1 o Sifig)
OR / 3ty

Explain in any three executive powers of the President in India.

qa & Tpufd @ fh=l 9N wrddifeer gae otferaal @1 auie Hifwg|
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48 The following four places related to the transportation facilities in India  1x4=4
are marked as A, B, C and D on the given outline political map of India.
Identify these places with the help of the following information and write their
correct names.

AR & iU 10 su@En Teiae JEes 9 9Rd # d9iEsd gianst 9 detia
frrfafad o) @l @ A, B, C 8k D % &0 § fafeaa fean mar 31 fr=fafea
SAHRT l TEdl § 39 WMl Bl 9ga 8K I del 9M @ |
(A) The southernmost terminal station of North-South Corridor

SAX—gfeTur AR & g9 Sl fia wam

(B) An international airport in Karnataka.
Heh § T SIS &ams ol

(C) An international airport in West Bengal.
ufsm Fd A uh SRS Tar ot

(D) A major seaport in Odisha.
fesm ¥ Uh 9@ ST

£

¢ % X
é ¢ i e ¥
3 w
\‘%/ﬁ *

%
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Following questions are for Visually Impaired Candidates only in lieu of

Q. No. 48.

frfafaa wem Faw gfeafim whenfiai ¥ foro wewt dem 48 & W W ¥

(A) Name the southernmost terminal station of North-South Corridor.
S-S TMeEn &1 e Sferelt 2RFE wee @ AW faRag|

(B) Name the place where an international airport is located in Karnataka.
G W &1 AW ffay Tt dfes ¥ Uh sidie gaE e Rua ®)

(C) Name the place where an international airport is located in West Bengal.
SH WM & W fafau Sl W dd # ue sl ga ol Rud )

(D) Name the place where major sea port is located in Odisha.

SH W & 99 fafay el SNfesm ¥ uh Y@ §3CTE Ry 1

49 In the given political outline map of India mark and label the following 4
with appropriate symbols:
HRA o STl @1 qHras 9 Fefaiad & 3fad fagal 4 sifea Hifig sk 37
am fafea:
(I) Indira Gandhi International Airport
sy e SR garg orE
(I) Sabarmati River
RICECRINCE
(IIT) Nilgiri Hills
rafify veteat
(IV) Westernmost terminal station of Golden Quadrilateral

@R agdst &1 a99 qiadl <Had ©eH
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Following questions are for Visually Impaired Candidates only in lieu of
Q. No. 49.
frfafaa wem Faw gfeafim whenf@i F foo wsw dem 49 F W W ¥
(I)  Write the name of the place where Indira Gandhi International Airport is
situated ?
G W @1 T ford Wt e e siarisia ward erer Rua ¥
(I) In which Indian state Sabarmati river flows ?

ETHA & HIRA & {hd ToF § T8l & 7
(III) Name the states where Nilgiri hills are located ?
S Tl & T gAY et Ay geiedt Rad g
(IV) Name the westernmost terminal station of Golden Quadrilateral.

Qi agHs % 999 UiHl <R ®9M @ AW Sasy|

50 Explain six major causes of Russian Revolution. 6
Gl ifd & B T BN B W DI |
OR / sy

Explain the Socialist movement and its impact in Russia in any six points.

wE H gUER! SR X 3ak yHEl & 8 faget 9 @ ity

51 How do interest groups differ from pressure groups ? Explain six points of 6

differences.

feq e fp0 TR 9@ Wl § = £ 7 ofdX & ©: f§geT &l e sig|
OR / g

Explain the main provisions of the Right to Equality as mentioned in the

Indian Constitution.

AU diqe™ § afitq @9ar & AfHeR & T TaEH & el S|
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Roll No.

AFAE
Map for Q. No. 49
9sd 6. 49 F U @mEtE
HRA T T@T-AAfE (T )
Outline Map of India (Political)
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This Question Paper consists of 51 questions and 22 printed pages + 1 Outline Map of India.

79 Y- § 51 YT A0 22 YHA U= + 1 WA H WA €|

Roll No. Code No. 69/MAY/4
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(213)
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General Instructions :

1. Candidate must write his/her Roll Number on the first page of the Question Paper.

2. Please check the Question Paper to verify that the total pages and the total number of

questions contained in the Question Paper are the same as those printed on the top of the

first page. Also check to see that the questions are in sequential order.

3. Forthe objective type of questions, you have to choose any one of the four alternatives given in

the questions i.e. (A), (B), (C) and (D) and indicate your correct answer in the Answer-Book

given to you.

4. All the questions including objective type questions are to be answered within the allotted

time and no separate time limit is fixed for answering objective type questions.

5. Making any identification mark in the Answer-Book or writing Roll Number anywhere other

than the specified places will lead to disqualification of the candidate.

6. Candidate will not be allowed to take Calculator, Mobile Phone, Bluetooth, Earphone or any

such electronic devices in the Examination Hall.

7. In case of any doubt or confusion in the Question Paper, the English Version will prevail.

8. Write your Question Paper Code No. 69/MAY/4, Set- on the Answer-Book.
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9.

(a) The Question Paper is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the questions will be yours only.

A ST

1.
2.

3.

TUETET YT % Ugd Y56 UX U SR sy fod |

FUAT YT-TF Bl g & 6 T-UA b P goi qoT YAl Bl I & e & e gum
U % q99 HUX BU $1 39 91 B Sig W B o 6 YT e ' OH ¥

TS weAt F eyl AR fasedt (A), (B), (C) 9T (D) ¥ ¥ ®13 TF SaX gvl & aor &
T SE-gRasr § gl wu forae

TEgFTss UsAl & TI-| FH YAl % wax faifia orafy & ofiax & 3 ¥ | o wedl %
g ot @ wwy el e s

SA-gRaem ¥ TeaM-Tag a9 otuar ffdse Wt % srfafed @i |l ershHie faes uX
el Bl ST ST SR

e Bl e B | hogpeiey, AN B, Y, TATHM o [BUT Hl Felagie SuBl
B T W BN STACT TR

A9 § el W1 U % dae Sreen gfaen o Rafa ¥ SHN Sae & A BN

AU FA-GRABI T TSI B B HEa 69/MAY/4, Set-[C| g

(%) 99 haw S/ Aregw # &1 BT Y, AfY ey A€ o T & 72 el ww W
¥ IO < Gahd © -
AfoTg, srafr, Jure, B, Wwpd o T
FuAT IA-YRasr A fiw U aie ¥ faw f6 o fpw wwr § X fow @ ®

(@) afy ey & ud el & srfafiea frdl o W & soX f@d ¥ O wost & g9z
¥ e ot Jfeat | afn @ el Baw sy gl

.

NOTE / it :

(1) Answers of all questions are to be given in the Answer-Book given to
you.
9l TRl oh IR SAHRT & TR I giken | & ford |

(2) 15 minutes time has been allotted to read this question paper. The
question paper will be distributed at 02.15 p.m. From 02.15 p.m. to
02.30 p.m., the students will read the question paper only and will not
write any answer on the answer-book during this period.
T Y951 I Ygd & fau 15 e o1 wm o @ ® | 999 o1 foror et
T 02.15 ot foram ST@m| 02.15 &t @ 02.30 &1 T S hadl Y- hl T
3R 39 Fafr & SRE 3 SW-Yeh R g ST & forad |
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SOCIAL SCIENCE
HAHMF 5T

213)
Time : 3 Hours | [ Maximum Marks : 100
{4 : 3 o ] [ quiik : 100
Note :
(i)  This question paper consists of 51 questions in all.
(ii))  All questions are compulsory.
(iii) Marks are given against each question.
(iv) Section - A consists of
(a) Q.No.1 to20- Multiple Choice Type Questions (MCQs) carrying 1 mark each. Select and write
the most appropriate option out of the four options given in each of these questions. Alternative
questions are given in lieu of Question No. 7 to 10 for Visually Impaired Candidates Only.
(b) Q. No. 21 to 35 - Objective type questions carrying 2 marks each (with 2 sub parts of 1 mark
each in some of these questions). Attempt these questions as per the instructions given for
each of the questions.
(v)  Section - B consists of
(a) Q. No. 36 to 41 - Very Short answer type questions carrying 2 marks each to be answered
in the range of 30 to 50 words. Attempt these questions as per the instructions given for each
of the questions.
(b) Q. No. 42 to 47 - Short answer type questions carrying 3 marks each to be answered in the
range of 50 to 80 words.
(c) Q.No. 48 & 49 - Skill (Map) based questions carrying 4 marks each. (Alternative questions
are given in lieu of map based questions for Visually Impaired Candidates.)
(d) Q. No. 50 & 51 - Long Answer type questions carrying 6 marks each to be answered in the
range of 80 to 120 words.
(e)  An internal choice has been provided in some of these questions. You have to attempt only
one of the given choices in such questions.
e :
() 39 9 ¥ P 51 YA ¥l
(i) W 9T sfEd ¥
(i) wR v F i Tk WU T W ¥
(iv) @ — 3 & 99T o ghHfed &
(@) WS HEA 1 ¥ 20 T% 1 3% I TEIHeT YR & 997 (MCQs) ¥ | e & 9 faseat & &
it Iuga fabed B g+ qor o | gheattya sl 3g T W@ 7 9 10 & WH W Jbis
99 g ™ 2
(b) ¥T TEAT 21 | 35 TF 2 3% A IEIMTS WHR b YT &1 (3T T B U H UAE 1 3% &
2 IU-ATN &% A1) | 37 YA BT I Y1 & A1 7 7 Frdenf & orgam i |
(V) @ —qF Y

(2) ¥eT €& 36 W 41 T 2 3% A MG TY-IAAT TBR % YA U 1 IaX 30 & 50 9=
# AR 37 v &1 IAX U &% Wiy T o Frdslf & orgEn §)

(b) ULT TEAT 42 W 47 T 3 3 A TG-S TB H Tdh G9T &1 S 50 & 80 9=l H |

(c) W HEAT 48 W 49 — DI (AHIeT) X ST 4 37 a1 U ¢ | (FReantyd v= &g Amres
T ST 99l & WM 9 Jebfedsd 99 g ™ 2))

(d) 99T HEAT 50 T 51 — 6 37 AT ArH-—STT B b YD YT B I 80 T 120 o1&l H T

(e) FB Ul H ofidie TFT DI Graer o TN 5| 3MUH! & fabedi § § Had Tk 997 BN 6
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SECTION - A
gos — A

1  Human Development Index has been used by which one of the following 1
organisation to prepare its annual human development report ?
(A) World Health Organisation (WHO)
(B) United Nation Organisation (UNO)
(C) United Nation Development Programme (UNDP)
(D) World Trade Organisation (WTO)
frrtafea & & g d7eT g o7ae! atities Wi forepre RO R & & Ty Aa
faepr gaedie &1 IUAN fepdT AT & 7
(A) fasa @ @ (WHO)
(B) ¥ g ¥ (UNO)
(C) Hga Ty fqe@ @A (UNDP)
(D) fagg =R &red (WTO)

2 The Shiv Sena is the major political party of which one of the following 1
states ?
(A) Maharashtra (B) Tamil Nadu
(C) Punjab (D) Assam
e o Frefartad # @ 68 TS @ 99 TS & © 7
(A) W (B) g
(C) dusH (D) orEw

3 Due to which incident did Gandhiji withdraw the non-cooperation movement? 1
(A) Kheda Peasant Movement (B) Ahmedabad Mill Workers

(C) Jallianwala Bagh (D) Chauri Chaura
TSl 3 b BT % BRI FHEA[M AR arod fordn 7

(A) W fpa™ snig (B) oEHaETE B 99X
(C) wiferararer amr (D) =@ 9
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4  In which of the following places did Gandhiji lead a satyagraha to help 1
peasants who were unable to pay their revenue due to crop failure and
epidemics ?

(A) Champaran (B) Ahmedabad

(C) Kheda (D) Dandi

frrefafad # @ fpq o ox TS A 39 pEMI ol 7ee % VT q@mE &1 "ga e
W ®EA Bl fIwAdr o HEMII & BT 3191 U gob § orEHy & ?

(A) U (B) oHqEE
(C) @ (D) @
5 In Bay of Bengal, usually tropical cyclones occur during which one from 1

the following seasons ?

(A) Hot weather season

(B) Cold weather season

(C) Retreating monsoon season

(D) Advancing south-west monsoon season

I B W H, IR I IWH{CIH Tghara Frfanad & & fohe Jem & S oma & 7
(A) AT g

(B) sffd g

(C) wed gT AT g

(D) =T A &1 g

6 Yamuna, Ghaghra, Gomati, Gandak and Koshi are the tributaries of 1
which one from the following rivers system ?
(A) The Brahmaputra river (B) The Indus river
(C) The Godavari river (D) The Ganga river
AT, |TI, T, T8 S Hish Fr-faiaa &1 dF § 9 foraw! deme Afear § ?
(A) R (B) fig =
(C) TR & (D) v &
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Study the given map carefully and answer the questions from 7 to 10.

fou T AERE = AEYEE e AT SR YR wEn 7 @ 10 @ # e S|

7  ldentify the river marked as ‘A’ in the map. 1
(A) The Kaveri river (B) The Brahmaputra river
(C) The Luni river (D) The Godavari river
AR # ‘AT % w0 H fafed & @l g il
(A) Bt T8 (B) eI
(C) A =& (D) TeTEdr &
8 Identify the river marked as ‘B’ in the map : 1
(A) The Sabarmati river (B) The Brahmaputra river
(C) The Narmada river (D) The Godavari river
At # ‘B’ o w9 ¥ fafed & @ ggEE Hifg)
(A) w6 B) wags
(C) T =& (D) ererdr &
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9  Identify the river marked as ‘C’ in the map: 1

(A) The Kaveri river (B) The Luni river
(C) The Narmada river (D) The Godavari river
qEfEs § ‘C’ & ®9 ¥ fafed 7 @ 9g€E iy |
(A) Rl T B) T T
(C) T -dr (D) Tiererd =&y
10 Identify the river marked as ‘D’ in the map: 1
(A) The Kaveri river (B) The Luni river
(C) The Narmada river (D) The Godavari river
qEfEs ¥ D % w9 A fafed 98 @ wewE i)
(A) w8 (B) o &
(C) w¥ar -&r (D) TheTady =&
Note :  The following questions are for visually impaired candidates only in lieu

of Q. No. 7 to 10.
e frfafaa wew Faw gfeafim wdeafE % g uew @en 7 § 10 F wW w )

7  Guwabhati is situated on which one from the following rivers? 1
(A) The Meghna river (B) The Brahmaputra river
(C) The Ganga river (D) The Godavari river
TErErer Frefated Afedl § ¥ fhe wX fuq &7
(A) #HeaT T (B) s@gs
(C) T =&r (D) TheTady =&
8  Which one from the following rivers flow into Arabian sea ? 1
(A) The Kaveri river (B) The Brahmaputra river
(C) The Narmada river (D) The Godavari river
frrefaried & | &9 d1 a1 o9 PR H el § 7
(A) w1 T8 (B) Fegs =
(C) T - (D) Ererl =&y
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9  Which one from the following is the longest river of southern India ? 1

(A) The Kaveri river (B) The Luni river

(C) The Narmada river (D) The Godavari river
frfafad & @ @ & el R & 99 |4 T8 B 7

(A) @l 7 (B) it 5

(C) et 7t (D) Tiererdt

10 Which one of the following rivers flows in the southernmost part of India ? 1

(A) The Kaveri river (B) The Krishna river
(C) The Godavari river (D) The Mahanadi river
frrefafad o & @9 @ T8 9RA & G99 el 9§ wEdr g 7
(A) el (B) Fwm &
(C) TR & (D) wEmEr
11 Which one from the following order of Trans-Himalayas mountain ranges 1

from north to south is correct?
(A) Karakoram, Zaskar, Ladakh  (B) Karakoram, Ladakh, Zaskar
(C) Ladakh Zaskar, Karakoram (D) Zaskar, Ladakh, Karakoram

a-Raraa yda swnel w1 Freafafed & ¥ @9 @1 sax o e 96 e a9 § 0
(A) HITHBRH, TEHT, TR (B) ®IUIH, WEM, STEhT
(C) TERd, ShT, HITBIH (D) SIreX, WErE, HTBIH

12 Which one from the following longitudes is the easternmost extent of India ? 1

(A) 23° 25' East longitude (B) 8¢ 4' East longitude
(C) 97° 25' East longitude (D) 37° 6' East longitude
Preaferfias 29l & ¥ B W AR AT TR g G B 7

(A) 23° 25' gdt sTax (B) 8° 4' qdt 3gmia

(C) 97° 25' gat eTax (D) 37° 6' gdl qgmiax
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13  Which of the following is recognized as the Standard Meridian of India? 1

(A) 82° 30" West longitude (B) 82° 30" East longitude
(C) 23° 30" North latitude (D) 23° 30" South latitude
frrfafad o 9 68 WA & WM HEAEA (@ % o9 H A U § 7
(A) 82° 30' 9t ST (B) 82° 30" gat <max
(C) 23° 30" I reaiar (D) 23° 30" gfefor areieT
14 Who among the following founded ‘Arya Samaj’ ? 1

(A) Swami Dayanand Saraswati  (B) Raja Ram Mohan Roy
(C) Ishwar Chandra Vidyasagar (D) Swami Vivekanand
frefatea & o fpae ‘S 99T Bl WO D 7

(A) @ e wXeE (B) T W Hied ™
(C) 3R 9% fqamarr (D) @ fqders
15  Who introduced the permanent settlement in Bengal and Bihar? 1
(A) Lord Irwin (B) Robert Brown
(C) Lord Cornwallis (D) Sir Thomas Roe
T 3R fER Wl detew &l JEed e @i 7
(A) @i few (B) e §meA
(C) T wiarted (D) | otFg
16 Peshwa is related with which one from the following wars? 1
(A) Anglo-Maratha war (B) Anglo-Sikh war
(C) Anglo-Awadh war (D) Anglo-Mysore war
Yot b1 dee Frefaiad ol ¥ @ fhad 2 7
(A) SFA—TeT I8 (B) erra-frw 73
(C) siw-ars I (D) siw-HaT gw
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17 ‘Onam’ festival is celebrated majorly in which one from the following 1

states of India ?

(A) Kerala (B) Rajasthan
(C) Haryana (D) Meghalaya
‘S TER ARG & Hfarad § ¥ fea Tog o yg@ 89 9 A9 o s 7
(A) & B) U™
(C) =fwamm (D) e
18 Shiromani Akali Dal is the regional political party of which one from the 1

following state?

(A) Maharashtra (B) Tamil Nadu
(C) Punjab (D) Assam
R bl @ Mifaiaa o 8 g 790 @1 e Teiiae ad 8 7
(A) W (B) dfterrg
(C) Yo (D) omEw
19 As per the 2011 census, what is the literacy rate of India? 1

2011 & SFAUAT & STAR WIRA 1 FTeal &X fhal @ 7
(A) 64.04% (B) 74.04%
(C) 57.04% (D) 84.04%

20 In which of the following years was the Indian National Congress established? 1
T T A B e PR e T ¥ g 7
(A) 1889 (B) 1858
(C) 1888 (D) 1885
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21 Tick the sentences as True or False : 1x2=2
(a) Regional political parties have emerged to fulfil regional aspirations.
(b) At present in India, there is two party system.
Rl U WE AT T 9X H9E @
(a) &R THID 30 &S STl Bl Y B & [T IHY 2|
(b) 9™ g ¥ 9Rg ¥ fagei sgewn )

22 Complete the following sentence with the help of suitable words : 1x2=2

The Prime Minister is the Ex-officio Chairman of the Commission
as well as the National Development Council. He/She represents the nation at

the international conference as the head of the
SUYH TRl B G ¥ Fefaiad ae @ QU it

U =S N & FrI-gry BT faerd ufiug & ued orege ¥ 9%
% 9@ & w0 A g e § Uy @ yidatfre wxar ¥

23 Complete the following sentence with the help of suitable words: 1x2=2

If a vacancy is caused because of resignation or removal or of the

President then Vice President acts as the
SUYH TGl B GEEdr ¥ Frefaiad ae @ QU sl

TR & AEYS o, TLART Bl FH STear el Dl % B o gu
g UX SUXEAld ®T Wifq B B B
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24

25

26

Complete the following sentence with the help of suitable words : 1x2=2
The Judges of High Court hold office till they attain the age of

years. However, a Chief Justice or a Judge can resign. A Judge can be removed
from office through an process by parliament on grounds of proved
misbehaviour or incapacity.

SUgH gl @l WerEar ¥ e 9 @l qu it

ST AT % =TT Y % TG YTl HIA b IS IT I & & | BAl(eh,

Teh g ArATeleT AT ATl TG < Hebdl & | WG haTaX AT SGHA b SATER T

T AL H e & TlRhAT % WIEIH ¥ YT ¥ Il S AT © |

Fill in the blanks : 1x2=2

(a) A practice where a person compelled to serve without any payment is
called

(b) No bill can become a law unless it is signed by the

(a) U T el fRdl R B R RR ST % Qe w0t % M AR e
SIS HEN ST & |

(b) @iz A {9 a9 9% HFF & I9 ThaT 99 qB T W % TEATEAT
T |

Complete the following sentence with the help of any one from given options. 1x2

The Meiji Restoration began in 1868 with an era of 'enlightened rule' which

transformed from a closed feudal society to the first
nation.

options :

(A) Meiji, urbanised (B) Commune, agriculturist
(C) Japan, industrialised (D) Commune, industrialised
faq Tq famedl & | fdl o @ geEar ¥ Fefafad e & U i)
1868 # & FU fiel gemds wgs e A H TH HEA TS 9
JEAHT T g % &Y H §&dT|

faemeq

(A) Frll, sl (B) &=, o

(C) S, sfteriiga (D) =g, sireirfiga
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27

28

29

Fill in the blanks : 1x2=2

(a) A judge of the Supreme Court can be removed through the process of

(b) The ultimate power of interpreting the Indian Constitution lies with the

Court.
e = @ gfi ifT:
(@) I Yihar & WIEOH § Hdted UMY b ~ATENST Bl §ET ST Gl & |
(b) WA d@faa™ & e & B oifaw sk <@y % U R

Complete the following sentence with the help of suitable words: 1x2=2

The Vidhan is a permanent house, and hence it is not dissolved.

Members are elected / nominated for a period of years.
JUYH &l Bl GEEd ¥ Frefafad ae e QU sl

foeam Uh W 99 &, o U I8 7 98 a1 & 9edl &
a9 @ orafy & foru fatfaaAmifea fear smar #)

Complete the following sentence with the help of suitable words: 1x2=2

The word Monsoon is derived from the Arabic word which means

SUYH JTEl bl WErEdr ¥ frefaiead G @ g i
AMYA TR STREl TR ° foan mon © fower o ®
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30 Complete the following sentence with the help of any one from given options : 1x2=2

India accounts of the total world land area and latitude

passes through almost centre of the nation.

Options :
(A) 4.42%, 33° 30" North (B) 4.24%, 33° 30" South
(C) 2.42%, 23° 30" North (D) 2.42%, 23° 30" South
feq Tq famedl § ¥ fdl u @ werwar ¥ felaiad e & QU s
fasa & pa dawa @ IRd # § & STETST 39T & T Bt
H BT O 8
faea:
(A) 4.42%, 33° 30" 3qX (B) 4.24%, 33° 30" gf&or
(C) 2.42%, 23° 30" 3qX (D) 2.42%, 23° 30" 3fequr
31 Identify the name about whom the sentence is related with : 1x2=2

(a) He was fearless and believed in the urgent need for unification of Germany.

His policy came to be known as ‘Blood and Iron’ policy.

(b) He and his wife, Savitribai Phule, are most known for their efforts to

educate women and the lower caste as well as masses.
39 T & Y 99 I 9o g9t ©

(a) o =T a1 3R STHAT & THIBTUT Bl qebled SATATDdT § fa9ard BT AT| Ih!
HIfq @&l T iR @i®’ Aifq & &7 § SFET S

(b) dr 3R I U, TifersiaTs B, Afearstt ofR fraclt s & drg—dre Sar &t
fyifaa & & o el % fow W e ¥
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32 Match column ‘A’ with column ‘B’ correctly: 1x2=2

(a)
(b)
(c)
(d)

HAT A’ B BHiew BT wE Bae i

(a)
(b)
(c)
(d)

33 Tick the sentences as True or False:

Column ‘A’

Arya Mahila Samaj
Satya Shodhak Samaj
Ramakrishna Mission

Brahmo Samaj

FW ‘A’
M HiEeT gHTST
g e T

KECRIRERE]

EEESEIS]

(@)

(i)
(iii)
(iv)

Column ‘B’

Raja Ram Mohan Roy
Pandita Ramabai
Jyotiba Phule

Swami Vivekanand

i B’

(i) e T HEA ™
(i) dfear T

(i) =NRMET B

(iv) @@l foeemrs

1x2=2

(a) The American War of Independence and the French Revolution

popularised the feeling of nationalism all over the world.

(b) The revolutonaries were inspired by the ideas of many Enlightenment

Il 9T GE A1 TTAd X M @

thinkers and philosophers such as Voltaire, Montesquieu and Rouseeau.

(a) oM@ WE=ar UM SR BE™T Shifd o TSgaR &I A& & QU e o

e S T

(b) it S g R SR @ S AR, S R w6 % R

g af@ 9
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34 Fill in the blanks : 1x2=2

(a) Netaji promised independence to Indians saying, “Tum mujhe

khoon do, main tumhe Azadi dunga”.

(b) The watchwords of the revolution - liberty, equality and fraternity

- inspired the whole world.
e @t @1 gfid ik

(a) TSl 7 AR I STSI&! &1 a6l & g9 %el, g 931 §A af, §
J® oTeIar gl

(b) Shifel o G TR — T, FHIAT SR A — = g gi+1am 1 U feean|

35 Fill in the blanks: 1x2=2
(a) Annie Besant became the president of the society in 1907.

(b) established the ‘Mukti Mission’ in Pune, a refuge for young

widows who had been deserted and abused by their families.
fraa wml @ gfid @it
(a) wAr 992 1907 ® TR B eregel 1 |

(b) F gur gl M @I IO ®I, S 39 gar fagerstt % My U
M WA o1, = 3% IRant g0 B fear o1 o 396 |y geas
fepar T em
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SECTION - B

gug — q

36 Describe any two reasons of Uprising of the Bhils. 2
‘Gl % famie’ & feel <1 SR &1 quA HifTg|

37 Explain the Permanent Settlement system in two points. 2
Wl SEEE Yol @l & fdget # W S|
OR / 3ty

Explain the Doctrine of Lapse in two points.

foerr 1 A &1 @ Rigalt ¥ @ i

38 "The purchasing power of different currencies varies substantially in the 2
world." Explain the statement in two points.
“faea & STT—STeT ATl Bl STfeRT T Bran €17 3 faigatt o 39 wem & amen
HINT |
OR / 3@t
"Many major steps have been taken towards women empowerment in India."

Explain any two steps.
‘e H Afedr YR B e W % WW wad IS1C W 21 TRl aF wawt @
T iy |

39 Why are Civil Society Organizations considered a new form of mass 2

pressure tactics ? Explain any two points.
fofod S STeAl @ 9Ra H drfed I9TA YUME! Bl T a1 &9 &l /T S
T 7 el 1 @ @l W il
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40 Find out the minimum number of states which you need to cross, if you 2

want to move from Gujarat to Assam by road.

gig 39 TS &1 T[Od & 3THH ST d1ed & qf Ual B [ 3T9e B 9 & foha
Al Bl IR HEAT BT 7

41 Which qualifications are required to be a judge in High court? 2

Explain any two.
I AT OEENy 99 & fU o 9 argad sasds € 7 el @ &l @mE

PHIfTT |
OR / 31y
Explain the importance of ‘no confidence motion’ in the Indian Parliament in

two points.

AU GHe 9 HAfq9amg g’ & 98 &l &l fqgan 9 W S|

42 Suggest any three corrective measures for ‘universal literacy’ 3

(Education for all).

it |rear (Tas fe firem) & fou fRel dF guroers Sural @ gamse

43 Describe any three key characteristics of the Indian Desert. 3
HRAE R &7 Bl dF 9@ fasivarstl & aui il
OR / 3@t

Describe any three characteristics of Retreating or Post Monsoon Season

in India.
AT o U ged WIMEA Bl g ol fastoarett @ dF figet # avie wifeg
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44 Explain the three main indicators of Human Development Index. 3

A fqepte gadie & 1 T9@ Hehdd! HI Ul S|

45 Describe in any three executive powers of Governor in India. 3
AT H oI ol el T BTl Sl sl @l auie sifg |
OR / 3tan

Explain in any three executive powers of the President in India.

qRd § TEUfa @ fh=l 9 et G948 oifeaal &1 auie st

46 How does regionalism pose a challenge to Indian democracy? 3
Explain in three points.
AT b T AR Wb o [T FHTT T Bl & ¢ a fagatl § e S|
OR / 3@t
How does poverty pose a challenge to Indian democracy ? Explain in three

points.

Tl fpe TR IRA™ @ebas & fTT g a1 &Ll & 2 dF fagel o we sl

47 Explain any three consequences of Second World War. 3

fada faea gw & Tl dF afomHl &t =redn &g
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48 The following four places related to the transportation facilities in India  1x4=4
are marked as A, B, C and D on the given outline political map of India.
Identify these places with the help of the following information and write their
correct names.

ARG & QU Q0 ®O@r AsHiae FEEs 9 9Rd # gRaed gigamstt ¥ ddfid
frfafea ar @l & A, B, C 8k D & &v ® fafeaa foear wn &) F=fafea
TSI % Tl ¥ 39 @l $ qgam 3K Ih Gel AW o |
(A) The southernmost terminal station of North-South Corridor
A0 A BT TS O T 9
(B) An international airport in Karnataka.
e # T G T o
(C) An international airport in West Bengal.
oftm SE ¥ Uw SR AT o
(D) A major seaport in Odisha.
fifsem o U wg@ SaTe

<]
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Following questions are for Visually Impaired Candidates only in lieu of

Q. No. 48.

frfafaa wem Faw gfeafim whenfiai ¥ foro wewt dem 48 & W W ¥

(A) Name the southernmost terminal station of North-South Corridor.
S-S TMeEn &1 e Sferelt 2RFE wee @ AW faRag|

(B) Name the place where an international airport is located in Karnataka.
G W &1 AW ffay Tt dfes ¥ Uh sidie gaE e Rua ®)

(C) Name the place where an international airport is located in West Bengal.
SH WM & W fafau Sl W dd # ue sl ga ol Rud )

(D) Name the place where major sea port is located in Odisha.

SH W & 99 fafay el SNfesm ¥ uh Y@ §3CTE Ry 1

49 In the given political outline map of India mark and label the following 4
with appropriate symbols:
HRA o STl @1 qHras 9 Fefaiad & 3fad fagal 4 sifea Hifig sk 37
am fafea:
(I) Indira Gandhi International Airport
sy e SR garg orE
(I) Sabarmati River
RICECRINCE
(IIT) Nilgiri Hills
rafify veteat
(IV) Westernmost terminal station of Golden Quadrilateral

@R agdst &1 a99 qiadl <Had ©eH
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Following questions are for Visually Impaired Candidates only in lieu of
Q. No. 49.
frfafaa wem Faw gfeafim whenf@i F foo wsw dem 49 F W W ¥
(I)  Write the name of the place where Indira Gandhi International Airport is
situated ?
G W @1 T ford Wt e e siarisia ward erer Rua ¥
(I) In which Indian state Sabarmati river flows ?

ETHA & HIRA & {hd ToF § T8l & 7
(III) Name the states where Nilgiri hills are located ?
S Tl & T gAY et Ay geiedt Rad g
(IV) Name the westernmost terminal station of Golden Quadrilateral.

Qi agHs % 999 UiHl <R ®9M @ AW Sasy|

50 How did Bismarck play a key role in unification of Germany? Explain in 6
any six points.
ST % Uhin T | 4w 7 fed yeR Aeaqul qie Fai 7[Rl e fagett o
W Iy |
OR / 3@t

Explain the process of Italy’s unification in six points.

3Tl % THIBI DI GRAT B B8 fqgal § W Sl

51 Explain the Right to Freedom of Religion mentioned in Indian Constitution 6
in any six points.
ARG dfaas § aftfq aififes @ & aifer o 5: faget § amen sifvg)
OR / 31y

Explain any six Fundamental Duties mentioned in the Indian Constitution.

IRag dfaas § aftfa el o Aifas waeal @ smen sk
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Roll No.

AFAE
Map for Q. No. 49
9sd 6. 49 F U @mEtE
HRA T T@T-AAfE (T )
Outline Map of India (Political)
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